DOo00o00@O)GREDO POFOOOOOOOOOOOO
oooodo
https://www.100test.com/kao_ti2020/627/2021 2022 E6 9C BA
E8 80 83 E9 A2 98 E6 c86 627293.htm 3.00 OO # [ O dam] [
0000000 0O dam closer than-- U if dam U O 0 then O [
OO0 0Odamageis--O 0 damO 000 #00damOd 000 0O,
Jdodoooood Jo0o0doboddamO oo
Ood than O O O O dam. O O O 0O possible] ..worse ,
0000000 prudent costhier# 0 0O 0O U O O damU O O O
[1 prudent...costlier prudentl] [1 [ costlier thanJ recommended(]
(1 O *0 possiblel 00 [ equivalent to what*[1 *[J [J [ tantamout to
O#000000000Omercuridll 0000000 #0000
Jdodododododouooooooooon
OMrbeanU OO OO OO0O0OO00O0O00O0OO0OOO0OONOMO
Jodododouodowhiterd DOO0O0OO0O0OO0OOO
Jododododododouooooodooodo
OO0000Oexceptionall OO inOO0O0O00OOOOOOMO
DO00000dodooddaa #farfrom being most L1 shallow),
romantic fiction is more moving than other genre. 01 1 0 I 0O O [

0 OO 0O #Asmore data are acquired,... support that theroy
I hirbeto been .0 O lacking in ... discounted. # ....[0 [0 [
[ ....hardly LU0, 00o0ooo..d O

a.disintrested .... exacting b.objective....mininal O O O al O 0O #
(1 O mercurialld O even-tempered(] [J # She was criticized by her
fellow lawyers not because she was not (hardworking),but because
she so (minutely) prepared . # Most intellectual criticism of mass



culture was () in character,being based on the assumption(?) that the
wider the appeal, the more ( )the product. 1. compelling ... intriguing
2. even though the governor was not the argument in favor
of the proposal,she decided to veto it. d:apathetic to (my answer) 3.
the development of junior schools was only Inexpensive way
to avoid of overcrowding of high shcools [J expediency 4. The
scientist found it puzzling that his rival’ s theory retained its
despite widespread suggestions that it was now . [J [ [J current
[J moribund As more and more Information has been acquired,
scientists have inadvertently found support for theories that
they had in the early time 000000 0O B) lacking for
[1 discounted, E) devoid of I rejected In the modern industry
society, the pessimism about the profitability of the invested capital
the excessive individual savings to the of the
economic growth of the society as a wholeld [ [J [ prevents [
maintenance, [J [ O O O O restricts ... incidence [ [ incidencel]
OO0o0o00 00000 dsite,which the most likely find U [
DO000o00oo0ooododdod mychoice: analyze
..... unforseen [J OO O U 0O O maligned,d U [0 uncopmetent] [ [
J0O0.0000oo0oooo,ooooood
O equposition100Test D D 0 D 0O OO0 O0OOOOOONO
000000 www.100test.com




